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Paarturnier - Luzern - 20.01.2025

Ergebnis (50 % =234.0 MP)

Paar
Wiilti, Vreni — Fischer, Verena

Schoahs, Grazyna — Steiner, Peter

Kallstrom, Curt — Nadrai, Marie-Antoinette

Briner, Maya — Wirtz, Susanne
Kleinschmidt, Michael — Bilar, Pedro
Zoller, Marion — Hedinger, Teresa
Walter, Marlise — Biitler, Doris

Wiist, Annamarie — Schilt, Carla
Gisler, Meggi — Paulon, Marianne
Zingg, Erika — Biitler, Adelbert
Wehrli-Wyss, Cristine — Bendel, Beatrice
Beylemans, Rita— Roth, Rita
Wigdorovits, Jutta — Hess, Rita
Furrer, Ursula — Griidel, Heidy
Kuhn, Monica — Tschopp, Denise
Konrad, Irma — Egli-Kessler, Ursula
Egli, Willi — Bernhardtz, Claes-Goran
Wespi, Marlise — Liithy, Ursula
Schir, Rita — van Exel, Wendela
Zingg, Elisabeth — Oesch, Helga

Turnierleitung: Marlise

MP
294.3
276.1
2744
2714
267.6
259.0
249.9
249.9
240.8
237.0
233.6
232.4
218.4
214.2
211.0
204.7
200.3
189.6
179.1
178.6

%
62.88
59.00
58.63
57.99
57.18
55.34
53.40
53.40
51.45
50.64
4991
49.66
46.67
45.77
45.09
43.74
42.80
40.51
38.27
38.16
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6.0 13 Pass
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140 4 s 1v =
120 9 w 1sA -1
00 16 N 3& -1
6.0 12 Pass
6.0 10 Pass
6.0 18 Pass
180 19 s 2sA +2
MP NS Kontrakt
50 6 W 34 =
50 20 W 24 +1
5.0 W 24 +1
120 3 W 24 =
00 5 W 34 +1
120 10 W 24 =
160 16 W 44 -1
180 13 N 3v =
120 11 W 3¢ =
50 18 W 1a +2
MP NS Kontrakt
00 18 N 4v -1
100 7 s 3sA +1
18.0 20 N 3SA +3
100 2 N 3sA +1
40 4 S 2SA +2
15.0 N 3SA +2
150 11 S 3sSA +2
20 9 N 2v +2
6.0 S 3SA =
100 12 N 3sSA +1
MP NS Kontrakt
160 13 N 1a =
1.0 9 N 3« -3
9.0 19 Pass
40 20 s 1sAa -1
9.0 3 Pass
180 5 s 1sA =
1.0 7 s 2% -3
9.0 12 Pass
9.0 10 Pass

140 2 w 2sA -1

MP NS Kontrakt
50 3 N 6% X -1
170 17 N 6% =
140 10 N 5% X +2
170 19 N 6% =
80 20 N 64 -1
50 4 N 6% X -1
00 14 O 64 X =
20 8 O 5¢ X +1
120 13 N 5% +1
100 11 O 64 -3
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K
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4K
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46
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10

48

&4
vB
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Ergebnis ~ OW  MP
Pass Pass 1 12.0
Pass Pass 8 12.0
100 14 20

80 11 4.0
50 15 6.0
100 7 18.0
Pass Pass 3 12.0
Pass Pass 17 12.0
Pass Pass 6 12.0
180 5 00
Ergebnis ~ OW  MP
140 19 13.0
140 2 13.0
140 9 13.0
110 14 6.0
170 12 18.0
110 15 6.0
100 8 20
140 4 00
110 17 6.0
140 7 13.0
Ergebnis  OW  MP
50 8 18.0
430 19 8.0
490 3 00
430 10 8.0
180 14 14.0
460 13 3.0
460 15 3.0
170 16 16.0
400 5 120
430 17 8.0
Ergebnis ~ OW  MP
80 17 2.0
150 18 17.0
Pass Pass 8 9.0
50 4 140
Pass Pass 11 9.0
90 14 0.0
150 1 17.0
Pass Pass 15 9.0
Pass Pass 16 9.0
50 6 40
Ergebnis OW  MP
200 7 13.0
1370 1.0
1150 18 4.0
1370 9 1.0
100 5 10.0
200 12 13.0
1540 6 18.0
950 2 16.0
620 15 6.0
300 16 8.0
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O 34 -1 ¥D 50
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O 3& = 4K 140
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O 44 +1 ¥4 650
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0 4v -1 <A 100
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S 3% -1 49 100
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W 24 = YD 110
N 1SA -2 %2 200
O 2v -2 44 100
Kontrakt Aussp. Ergebnis
W 44 +2 4B 480
W 44 = WA 420
W 44 +1 WA 450
W 64 = &3 980
W 44 +1 WA 450
W 44 +1 YA 450
W 34 +1 YA 170
Pass Pass Pass
W 44 +1 WA 450
W 44 = WA 420
Kontrakt Aussp. Ergebnis
W 4y = &9 620
W 4y = 4K 620
W 4y -1 %9 100
W 3Y = &9 140
W 4y = &9 620
W 5¥ -2 #9200
W 4y = &9 620
W 4y -1 %9 100
W 3SA +2 4K 660
W o4y -1 410 100

ow
16

18
10
6

13

15

ow

w

10
17
13
19

=)

ow
10

L )

-

19

w e

MP
2.0
4.0
7.0
12.0
0.0
18.0
15.0
7.0
10.0
15.0

MP
17.0
5.0
8.0
12.0
12.0
12.0
17.0
0.0
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17.0
6.0
11.0
6.0
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620 15 6.0
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50 2 6.0
140 16 16.0
50 9 40
140 17 16.0
100 18 8.0
110 19 11.0
140 7 16.0
170 1 00
150 8 20
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600 5 20
620 3 8.0
620 8.0
620 10 8.0
650 17 16.0
650 13 16.0
620 19 8.0
620 8 8.0
100 2 00
650 9 16.0
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150 10 7.0
430 6 15.0
150 4 7.0
170 2 12.0
50 1 20
150 5 7.0
150 1 7.0
430 19 15.0
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100 3 00
Ergebnis  OW  MP
650 4 40
650 11 40
650 7 40
620 5 120
600 3 170
600 12 170
620 6 120
650 2 40
620 19 120
650 10 4.0
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450 17 80
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450 2 80
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100 6 0.1
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1o 9 112

50 7 46

170 16 15.7

50 4.6
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450 18 179

50 3 46

130 12 134
Ergebnis  OW  MP
120 7 60
100 14 15.0
150 10 20
100 8 15.0
100 6 10.0
110 2 80
170 9 00
90 18 12.0
140 4 40
200 13 18.0
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